EE N XEE

HEEAEAN EMNER

(B FR29%4H1H F FERI3043A31H) (B6I:M)
BEEE FE(A) RE(B) =2 (A—B)
NHRRBLZIA 376,631,924 380,611,110 A 3,979,186
BERESFMEIA 0 20,000 A 20,000
5 | ERAIBERL 2 A 1,000 490 510
2| | ZDH/OIRA 950,500 2,452,759 A 1,502,259
o EEFTEBIAG (1) 377,583,424 383,084,359 A 5,500,935
?ZJ AEBEXH 237,750,000 234,238,186 3,511,814
£| [EEEXH 54,547,000 52,910,350 1,636,650
3 |x|EBEXH 49,281,844 52,569,479 A 3,287,635
R || 40 F B 11,200,000 10,047,925 1,152,075
2| |zothox 0 0 0
EEIHRHE(2) 352,778,844 349,765,940 3,012,904
EZIHESNMZEEOR)=>1)—(2) 24,804,580 33,318,419 A 8,513,839
6 )}
@ | A HEEREHEIMAG (4)
= (REESEBASEEIH 9,136,000 8,158,000 978,000
% |ETarmEexH 14,465,400 14,445,800 19,600
f F|I7FAF VR —REBEORF X 1,956,960 1,956,960 0
£ |
%
”é SRBBE X HE (5) 25,558,360 24 560,760 997,600
MR BEEESINTEL(6) =(4)-(5) A 25,558,360 A 24560,760 A 997,600
IR ESAG{ 5| = E EEERARUN A 0 1,072,000 A 1,072,000
g A ZF D DEEIR A (7) 0 1,072,000 A 1,072,000
| REHEMASIHEERSE 1,500,000 1,701,400 A 201,400
)
&
B (%
12|
&
%
”é FDMDEE H 5 (8) 1,500,000 1,701,400 A 201,400
FOMDEENESINTELE(9) = (7)-(8) A 1,500,000 A 629,400 A 870,600
FliEEH (10)
LB SN EEESE(11) = (3)+(6)+(9)-(10) A 2,253,780 8,128,259 A 10,382,039
AR XILESES (12) 531,956,202| A 531,956,202
LERTIESRE (11)+(12) A 2,253,780 540,084,461 A 542,338,241




